) KR T (R ) PEERH HigRak

AR A H: 2023 512 A 30 H i3 AL BASEELE (NE):
TH 4 7 TRAGE B 5 T E 4 42138124184T000000108
HE EEHI] X F A KRB T E $AT AL K E N KRB
TE f A Al BX 7 L% 18771336140
B4 Mt rﬁﬁ%ﬁifﬁﬁﬁg4 WS K 2 AL 432700
T E B FrEETE
SO A KR AT E
R CED 2024 I 4 2029
T E SRR HRAE L 451 R AR B AT SR
T E ST & L ERRS KT -2FEAT AR B 2 BB R HRR- AR S
FHETE 6. 38 TE YFHE 6. 38
T E A TRE
15,
T H kIR i
&1t 6. 38
— ko FE TR W Hedk 0
Hoep HIESFEF AR 0
B M 2 TUH U Bdk K 0
W& P g R A 0
BAT R A 6. 38
Hodr fE ] BBk S 0
T X A K
| BT e | I )
T E E 2 WA | oo i T HAK 4 B3t WA &
g ok
ERRS K AN B R 3 T 4541 30 75+20 4600 7,
JT-/A %354T 4.9 5% 80 7L +10 1-800 7, 3 71 20 7 #20 AN
d]‘/lx\)zﬂ l:‘l:llﬂ =400 75, FHL 2 6+500 R=1000 j5, &84 18




TL*50 AN=900 JT, T A 4% 30 5*24 =720 75, &7
P 15 L*120 4,=1800 75, KAR 15 TE*160 4,
=2400 75, [l 0 & 25 75240 £-6000 71, EAth
J 8 780 75, /NIF 15400 765 A O

ITE0 B VLA, A 4K 200 T5+4 5K/ H #12 F=9600
Th. FTEI4E 30 T*20 6,/ A =12 A=7200 70; 7N
A AU 350 Toxd K/ F*12 A=16800 TT.

RAE B B R AT S M 40 620 =800 T,
1. 48 F 40 REEIME 100 T6*20=2000 5. EEHE 2
FL*1000 #2=2000 5. WF B 1 $#=10000 iT.

hAE B R
FH-hRARE

TEXM
R BE &
T HSHE BT

BRRS KIT 253247 A St RIBE, R RS AT 4T
EWRMEATRIBE, mEM. T 5. 5h Mgtk k. 2024
Fo S MRFTERANR R, WS imEs A RGER, T80
KHGKEAT 1 Mo . WS RGeS ALK, AT 0 RETER
BRI . SR AL E B ARE RO R P B K, R R TUE F g
s, B REES T ERITRE =R T, AL E TR R U
TR B S AL

F SR E AR 1 I E K. RS, R EREIRE
KGR ETE
— ¥ _ _ _ _ _ o
b éﬁ*’f’ et Sadsk | R S
ERR S AT-2gEMa N
ZFRA [ B 9 RELO
o CNA R
\ IF ERRAAT-2HEG i
AR A 7
| ek
®Ar
K 5% & ASHIE
A7 1 AR
AR 4 =3900 % R
ERR4 =2080 % i xIAR
U | o | MEES =3120 % ik
I BE i NS 23900 % -
EiEYN €S =2600 % iR AR
THRATB MRS =780 K it xAR




E + ®IFERS >96Y% iR AR A
BB R4 >96% iR AR
A4 5 & > 96% i xIAR
E R4 55 >96Y% AR
R S 52 R >96% iR
IR S SR > 96% iR
=y -
PR ew manin | >0 -,
TS 2R 2 >96% R
EER-3 3. TS 8% >96% R
RBUR S Ak % >96% R
Lo R 2024 £ ARk
BT
BRI
H¥rE |
%A | ek (RS R =17680 % Pk
Vs W/ |
XY &
®EFE O
g |RANR \pwinen > 96% AR
%% R
;J:E‘*j_\_ ......
%;ﬂ‘;qéﬁﬁ—k ......
El 4% 2
EEEREARE
— 4
B b4 % ffﬂ e I o R T Nt L
M7 B R4 KT - 53247 SR
G A A B w9 s
1%} /’\ N S5 4T
| BT ERBAKT-24ER .
A P
| A RA
®EF |
F R 4 AIRIE
EAr 1 AR
AR 4 =3900 % ARk
17 IR % =2080 K AR
FHAE | o | HERS =3120 % AL
FF HE T NS Z3900 % e
SEAEFE AR S =2600 K AR
THATERS =780 % ARk




EAT 2

E 4+ R RS >96Y% kAR
BB R4 > 96% i Aok
AR5 = >96% i xIAR
E R4 55 >96% AR
R S 52 R >96% T Ao
NS R > 96% Ao
SR
BRI [ rw margs | > T—
THARRS ERE > 96% ARk
EER-3 3. TS 8% > 96% ARk
KBRS 75 >96% R
. _|R A 2024 £ R
B ARAAT [
BRI
w/AR
%A | ek (RS R =17680 % Pk
yas Ezx 2
XY &
-2
g |RANR \pwinen > 96% bk
e | HEE
5] %‘é]‘tﬁ: ......




